

Satellites: Equation of Motion in Nechvill's Co-ordinate System

Sushil Chandra Karna^{1,*}

¹ Department of Mathematics, M.B.M. Campus Rajbiraj, Saptari, Nepal.

Abstract: This paper deals with the system of non-linear, non-autonomous and non-homogeneous equations of motion in terms of the Nechvill's Co-ordinate system have been derived. The general solution is beyond our reach.

Keywords: System, Nonlinear, Homogeneous, Frame of reference, constraints.

© JS Publication.

1. Introduction

The physical properties of the celestial bodies is generally faced with two types of problems namely gravity gradient stabilization and altitude stabilization of the satellites. Gravity gradient stabilization means that the portion carrying the instrument in the satellites is always pointed towards the surface of the earth. This resulted in the formulation of the problem of the passive altitude stabilization of the satellites in the orbit.

2. Main Results

We transform the equations of motion of the particle of mass m_1 in terms of Nechvill's co-ordinate system using the Nechvill's transformation given by.

$$\left. \begin{aligned} \xi &= \rho x \\ \eta &= \rho y \\ \zeta &= \rho z \end{aligned} \right\} \quad (1)$$

Where

$$\rho = \frac{R}{r} = \frac{1}{1 + e \cos v} \quad (2)$$

Here r and p are semi latus rectum (focal parameter) eccentricity of the orbit of the centre of mass of the system. For our further study, we shall choose the true anomaly v of the centre of mass as an independent variable which is given by the differential equation.

$$v = \frac{dv}{dt} = \frac{\sqrt{\mu_r}}{r^2} \frac{1}{\rho^2} \quad (3)$$

* E-mail: sushilkarna22@gmail.com

Where $\frac{\sqrt{\mu r}}{r^2}$ remains constant for a given orbit. Let dash denote differentiations with respect to the variable v

$$\begin{aligned}\dot{\xi} &= \frac{d}{dt}(\rho x) = \frac{d}{dv}(\rho x) \frac{dv}{dt} \\ &= (\rho' x + \rho x') \dot{v} \\ \dot{\eta} &= (\rho' y + \rho y') \dot{v} \\ \dot{\zeta} &= (\rho' z + \rho z') \dot{v}\end{aligned}\tag{4}$$

Differentiating (4) again we have

$$\begin{aligned}\ddot{\xi} &= (\rho'' x + 2\rho' x' + \rho x'') \dot{v}^2 + (\rho' x + \rho x') \dot{v} \dot{v}' \\ \ddot{\eta} &= (\rho'' y + 2\rho' y' + \rho y'') \dot{v}^2 + (\rho' y + \rho y') \dot{v} \dot{v}' \\ \ddot{\zeta} &= (\rho'' z + 2\rho' z' + \rho z'') \dot{v}^2 + (\rho' z + \rho z') \dot{v} \dot{v}'\end{aligned}\tag{5}$$

From (3) we have

$$\begin{aligned}\dot{v} &= \frac{\sqrt{\mu r}}{r^2} \frac{1}{\rho^2} \\ \ddot{v} &= \frac{\sqrt{\mu r}}{r^2} \left(\frac{-2\rho\rho'\dot{v}}{\rho^4} \right) \\ &= \frac{-\sqrt{\mu r}}{r^2} \cdot \frac{2\rho'}{\rho^3} v' \\ 2\dot{v}^2 \rho' + \ddot{v} e &= 0\end{aligned}\tag{6}$$

But $\dot{v}' = \frac{-2\sqrt{\mu\rho}}{r^2} \frac{\rho'}{\rho^3}$; $\ddot{v} = v^1 \dot{v}$. Putting $\ddot{v} = v^1 \dot{v}$ in (6) we get

$$\begin{aligned}\dot{v} (2\dot{v}\rho^1 + \rho v^1) &= 0 \\ 2\dot{v}\rho^1 + \rho v^1 &= 0\end{aligned}\tag{7}$$

Let us choose $\frac{\sqrt{\mu r}}{r^2} = \text{constant} = a$ (say). Then $\dot{v} = \frac{a}{\rho^2}$.

$$v^1 = \frac{2a}{\rho^3} \rho^1$$

Also $\rho' = \frac{1}{1 + e \cos v} \Rightarrow \rho^1 = e\rho' \sin v$

$$\begin{aligned}\rho'' &= 2e\rho\rho' \sin v + e\rho^2 \cos v \\ \rho'' \dot{v} - \rho \dot{v} + \rho' \dot{v} &= (e\rho^2 \cos v + 2e\rho\rho' \sin v) \frac{a}{\rho^2} - \frac{pa}{\rho^2} + e\rho^2 \sin v \left(\frac{-2a}{\rho^3} \rho^1 \right) \\ &= a \left(\rho \cos v - \frac{1}{\rho} \right) \\ &= -a \frac{-\sqrt{\mu r}}{\gamma^2} \\ \rho'' \dot{v} - \rho \dot{v} + \rho' \dot{v} &= \frac{-\sqrt{\mu r}}{\gamma^2}\end{aligned}\tag{8}$$

Also

$$\rho'' \dot{v} + \rho' \dot{v}' = \frac{d}{dv}(\rho' \dot{v})$$

$$\begin{aligned}
&= \frac{d}{dv} \left(\rho' \cdot \frac{a}{\rho^2} \right) \\
&= \frac{d}{dv} (ae \sin v) \\
&= ae \cos v \\
&= a \left(\frac{1}{a} - 1 \right)
\end{aligned} \tag{9}$$

and

$$\begin{aligned}
R &= \rho \rho \\
&= \rho \frac{d}{dv} \left(\frac{1}{1 + e \cos v} \right) \frac{dv}{dl} \\
&= r \rho' \dot{v}
\end{aligned} \tag{10}$$

Using (1), (2), (3), (4), (5) and (10) in equation of system. We get

$$\begin{aligned}
\rho \dot{v}^2 x'' + (2\rho' \dot{v} + \rho v') x' \dot{v} - (\ddot{v} \rho + 2\dot{v}^2 \rho') y - 2\rho \dot{v}^2 y + (\rho'' \dot{v} - \rho' \dot{v} + \rho' \dot{v}') \dot{v} x + a_1 \rho \rho' \dot{v} \frac{-2\mu x}{r^3 \rho^2} - \frac{12\mu k_2 x}{\rho^4 r^5} \\
+ \lambda a \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] \rho x = - \left(\frac{Q_1}{m_1} - \frac{Q_2}{m_2} \right) \frac{\mu_E}{\gamma^2 \rho^2} \dot{v} \cos i
\end{aligned} \tag{11}$$

using (7) and (8) in (11) we get

$$\rho \dot{v}^2 x'' - 2\rho \dot{v}^2 y' + a_1 y \rho^2 \dot{v} - \frac{2\mu x}{r^3 \rho^2} - \frac{12\mu k_2 x}{\rho^4 r^5} - \frac{\sqrt{\mu r}}{r^2} v x = -\lambda x \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] \rho x - \left(\frac{Q_1}{m_1} - \frac{Q_2}{m_2} \right) \frac{\mu_E}{r^2 \rho^2} v \cos i$$

Dividing through out by $\rho \dot{v}^2$ we get

$$x'' - 2y' - \frac{\sqrt{\mu r}}{r^2 \rho^2} \frac{x}{\rho \dot{v}} + \frac{a_1 r \rho^1}{\rho \dot{v}} \frac{2\mu x}{r^3 \rho^3 \dot{v}^2} - \frac{12\mu k_2 x}{\rho^5 r^5 \dot{v}^2} = \frac{-\lambda a}{\dot{v}^2} \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] x - \left(\frac{Q_1}{m_1} - \frac{Q_2}{m_2} \right) \frac{\mu_E}{r^2 \rho^3 \dot{v}} \cos i$$

Putting the value of $\dot{v}$ we obtain the above equation of motion in the form

$$x'' - 2y' - 3\rho x \frac{12k_2 x}{\rho r^2} + \frac{a_1 r^3 \rho \rho^1}{\sqrt{\mu \gamma}} = \frac{-\lambda a r^3}{\mu} \rho^4 \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] x - \left(\frac{Q_1}{m_1} - \frac{Q_2}{m_2} \right) \frac{\mu_E}{\sqrt{\mu p}} \frac{1}{\rho} \cos i$$

i.e.

$$x'' - 2y' - 3x\rho - \frac{12k_2 x}{\rho r^2} + f \rho \rho' = -\lambda a \rho^4 \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] x - \frac{B}{\rho \cos i} \tag{12}$$

Where

$$\begin{aligned}
f &= \frac{a_1 r^3}{\sqrt{\mu r}} \\
\bar{\lambda} a &= \frac{r^3}{\mu} \lambda a \\
B &= \left(\frac{Q_1}{m_1} - \frac{Q_2}{m_2} \right) \frac{\mu_E}{\sqrt{\mu r}}
\end{aligned} \tag{13}$$

Similarly 2nd and 3rd equation of (13) can be written as

$$y'' + 2x' + f \rho^2 + \frac{3k_2}{\rho r^2} y = -\bar{\lambda} a \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] \rho^4 y - \frac{B \rho'}{\rho^2} \cos i \dots \tag{14}$$

and

$$\begin{aligned} z'' + z + \frac{3k_2 z}{\rho r^2} &= -\lambda a \rho^4 \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] z \\ &= B / \rho \left[\frac{\rho^1}{\rho} \cos(v + w) + \frac{1}{\mu_E} (3\rho^3 r^3 - \mu_E) / -\mu_E \sin(v + w) \right] \sin i \end{aligned} \quad (15)$$

Where $v + w =$ argument of the latitude of the particle. Thus we get a new set of differential equation character sing the motion of the particle o mass m_1 as

$$\begin{aligned} x'' - 2y' - 3x\rho + \frac{4A}{\rho}x + f\rho\rho^1 &= \bar{\lambda}a\rho^4 \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^4}} \right] x - \frac{B}{\rho} \cos i \\ y'' + 2x^1 + f\rho^2 - \frac{A}{\rho}.y &= -\lambda a \rho^4 \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] y - \frac{B\rho^1}{\rho^2} \cos i \\ z'' + z - \frac{A}{\rho z} &= -\bar{\lambda}a\rho^4 \left[1 - \frac{\iota_0}{\rho \sqrt{x^2 + y^2 + z^2}} \right] z \\ &\quad - \frac{B}{\rho} \left[\frac{\rho^1}{\rho} \cos(v - w) + \frac{1}{\mu_E} (3r^3 \rho^2 - \mu_E) \sin(v + w) \right] \sin i \end{aligned} \quad (16)$$

Where $A = \frac{-3\mu k_2}{r^2}$ and $f, \lambda \bar{a}$ and B are given by (13). The condition of constraint takes the form

$$x^2 + y^2 + z^2 \leq \frac{\iota_0}{\rho^2} \quad (17)$$

3. Conclusion

The system of equation (16) describes the motion of the particle of mass m_1 in rotating frame of reference in Nechvill's co-ordinates which is a non-linear, non-homogeneous and non-continuous whose general solution is beyond our reach.

References

- [1] R. R. Bate, D. D. Mueller and J. E. White, *Fundamentals of Astor dynamics* Dover, New York, (1671).
- [2] J. M. A. Danby, *Fundamentals of celestial Mechanics*, MacMillan, New York, (1962).
- [3] R. H. Batten, *Astronautically Guidance*, McGraw-Hill, New York, (1964).
- [4] P. M. Fitzpatrick, *Principles of celestial Mechanics*, Academic press, New York, (1970).
- [5] M. H. Kaplan, *Modern spacecraft Dynamics and control*, Wiley, New York, (1976).
- [6] L. Meirovitch, *Methods of Analytical Dynamics*, McGraw-Hill, New York, (1970).
- [7] Peter C. Hughes, *Spacecraft Altitude Dynamics while*, New York, (1986).
- [8] R. Kane yeoman, Peter L. Likens and D. A. Evensong, *Spacecraft Dynamics*, MC-Grew Hill, New-York, (1983).
- [9] W. T. Thomson, *Involution to space Dynamics hilly*, New York, (1961).
- [10] C. S. Draper, W. Wrangle and H. Hookah, *Inertial Guidance*, paragon, New York, (1960).
- [11] K. R. Bruiting, *Inertial Navigation System Dialysis*, Wiley, New York, (1971).